Use of English 
Sentence transformation exercises. 
Rewrite each sentence so that it contains the word in parentheses and so that the meaning stays the same. Do not change the word given. 10 marks. 

1. What a pity it is raining, we can’t go to the park. (could)
If it………………………………………………………………………………
2. Her suggestion to us was to go to the movies. (we)
She…………………………………………………………………….
3. He said he absolutely did not commit the crime. (denied)
He………………………………………………………………………………..
4. “Your order is ready,” said the waiter.  (was)
The waiter…………………………………………………………………
5. It took me a long time to get accustomed to living here. (used)
I…………………………………………………………………………………………….
6.In 1928 Alexandar Flemming discovered the first antibiotic, penicillin. (was)
Penicillin……………………………………………………………………………………………….
7. It’s possible that the baby is sleeping, so let’s be really quiet when we go into her room. (might)
The baby…………………………………………………………………………………………………………….
8. I had only just arrived home when it began to rain. (sooner)
No…………………………………………………………………………..
9. I’ll call the police if you don’t leave me alone! (will)
Unless……………………………………………………………………………
10. He failed to arrive on time, but he also forgot to bring the documents. (only)
Not………………………………………………………………………………………………………………

